
Pre-Lab  Ch 10 Questions



Is a plant a prokaryote or eukaryote? What is a prokaryote?


________________________________________________________________________________________________________________________

What is the cell cycle? Is mitosis a part of the cell cycle?


________________________________________________________________________________________________________________________

Why does a cell undergo mitosis?


________________________________________________________________________________________________________________________

Can you see DNA in all cells under the microscope? Why or why mot.


________________________________________________________________________________________________________________________

What do you think is the longest part of mitosis AND WHY? - this is your hypothesis
________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________

Ch 10 lab cheat sheet

Purpose- what is the purpose?  Why are we counting the number of cells in each stage. Give your hypothesis from the prelab- which stage did you think would take the longest and why?

Background – what is mitosis? What is the function of mitosis in a eukaryote? What are the stages? What happens in each stage (be brief). What is the formula you will use to find the percentage of all cells?

What is the formula you will use to find the duration of the phase in minutes?

Data- include the following 2 charts

Relative Duration of each phase of Mitosis (lab group)

	Phase of Mitosis
	count
	Percentage of all cells
	Time (min)

	Prophase
	
	
	

	Metaphase
	
	
	

	Anaphase
	
	
	

	Telophase
	
	
	


Relative Duration of each phase of Mitosis (class)

	Phase of Mitosis
	count
	Percentage of all cells
	Time (min)

	Prophase
	
	
	

	Metaphase
	
	
	

	Anaphase
	
	
	

	Telophase
	
	
	


Conclusion- What was the longest phase of Mitosis? How long did it take? Why do you think this is so? How did your results compare to your hypothesis? What factors could make this inaccurate?


